/.05 .05 05 0 0O 0O ) Three row clusters:

0505050 O 0 1 =171,T2}, o =1{x3,T and 23 = {z5.x
O O O .05 .05 .05 1 = {71,782}, %2 = {3, %4} 3 = {5, T6}

Py)=1 o o 0o .05 .05 .05

04 04 O 04 04 04 Two column clusters:

\ .04 .04 .04 0 .04 .04 y1 = {y1,y2,y3} and yo = {y4,ys, Y6}
5 0 B [ .054 .054 .042 O 0 3
5 0 0 = o 054 .054 .042 O 0 0
0 5 0 - (.36 36 28 0 0 O ): 0 0 0 .042 .054 .054
0 5 0 5 B 0O O O .28 .36 .36 0 0 0 .042 .054 .054
0 0 .5 e p(ylH) 036 .036 0.28 .028 .036 .036
o o .5/ p(&9) \ .036 .036 .028 .028 .036 .036 |

p(z|z) q(z,y)



